ECE 321 - Quiz #1. Name

Push-Pull Amplifiers, Op-Amp Amplifiers. April 6, 2018
Push-Pull Amplifiers: Voltage Output

1) Determine the voltages and currents for the following push-pull amplifier. Assume TIP transistors
with
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Push-Pull Amplifiers: Current Output

2) Determine the voltages and currents for the following push-pull amplifier. Assume TIP transistors
with
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3) Design an op-amp circuit which has a gain of

Y=3X-12 - 3(?51%%}




4) Design a circuit which outputs

~10V when R = 1200 Ohms
+10V when R = 1800 Ohms
Proportional for 1200 <R < 1800 Ohms
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5) Write the voltage node equations for the following op-amp circuit Ay —
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Bonus! Which is @’fcgr: Bernie Sanders or Godzilla? (i.e. were any Godzilla movies made at the time
Bernie Sanders was.born?) e
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